Learning Tables

Some parents got in touch expressing confusion about the maths tables work. Others asked for
additional materials to support their child with tables. | have made this document in the hopes that it
helps you to support your child learning at home.

This document is a compilation of tables worksheets for addition and subtraction of
numbers 1-10. The solutions are included at the end of the document.

Different ways to use these worksheets:
e Print and have your child complete it as a traditional worksheet
e Read the questions aloud and ask your child to answer them orally. A quizshow
type game might make this fun!

Finally, please do not feel pressured to use the time boxes on the worksheets - for
some children this causes stress and anxiety while for others it is a fun challenge. Find
whatever works for your child.

Best wishes,
Sarah
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2| |l 4 2| 14

3. & iy 3. 7
5 . 9 4 4, 9
i 6.| 2 4 6|12
2 6.| 10 i 6| &
b .19 4 7.113
¥ 8. 1& 4 8. 10
5 9. 4 |0 9.1 6
4 | 12 10.] 4
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i .| & + § =
2.0 43 = 212 + b = 2.
3|5 | &8 - 5 = 3.
4. 5 0 {5 - & = 4.
6| 2 B B.lo 4+ B = 8.
6.1 9 5 fld + 4 = 6.
7.1 5 5 .10 - 5 = 7.
8| 10 5 817 = 65 = 8.
9.7 5 9156 + ¢ = 9.
10.| 8 5 B.§j6 + 5§ = 10.
I.| 8 b IL.jls = & =
12.| & o 2.l - b =
13.| &5 & A1 5 + 10 =
4. & e, 5.! 7 + § =
16.| & ! 16.j Il - B =
16.| 13 5 .IJ.'.|- 12 - 5 =
17.] I5 5 I7.186 + 0 =
18.| 11 & 8.} 6 + 3 =
19, 14 G 9.9 - 5 =
2.1 12 3 20113 - 5 = .

= = = =



2110 - & = 2|12 - &
3|6 + 4 = 3|16 - &
|9 - & = b, | & 5
Bl& + 0 = B.| 6 &
b|I§ ~- & = 6| & ]
7. 6 + § = 7./16 — &
B8 - & = 8|6 a
|23+ b = 2. n B
o.|ls6 - & = 10| & &
|6 + 8 = .| 8 f
2|14 - & = 12.| 10 - 6
18.|5 + & = 13.| 9 b
h.|7 - & = 14, | & 2
6|6 + & = I5,| & B
|2 - & = 16| 9 &
I7./2 + & = I7.]18 — &
IB.|18 - & = 18| 7 &
la + 7 = 19.] 14 b
3 (1l - & = 20.| & 0
=
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B+ 4 = .| & 10 =
g — 8 = 2| 18 B =
B + 10 = 3. 13 B =
@ - 8 = 4. & B =
B+ B = B | 12 B =
I -~ § = 6.| 8 B -
a + 09 = .17 B =
12 = 8 = 8| 4 B =
3.+ 4 = 9.1 8 B -
0 - 8 = 10.] 8 2 =
B + 0 = TREl B =
I? - § = 12.] 16 B =
B+ & = 13| 8 3 =
5 — 8 = I4,| 8 0D =
2 + 8 = 6| & B =
I - 8 = 16.| 15 B =
B + 7 = 17| 10 B =
& = B = 18.| 8 i =
A + 8B = 19| 14 B =
. 3 - 8 = 2. 6 B =
oEmn =
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Wednesday |  Thursday

T oot @ Torwr el

} mins et
.| 7 0 = .| 18 + B =
2| 13 N = |0 = |0 =
3.1 10 8 = 3./10 - 10 =
& 17 0 = 4110 + 0 =
B.| I0 2 = B.|I1% = |0 =
6. | 20 ID = G.|& + 10 =
7.1 10 9 = Tl - 0=
8. |8 0 = B|I0D + 6 =
9. 0O 0 = 2017 - 10 =
10. | 1% 0 = m|ig + 1 =
.| 10 0 = 1.113 - 10 =
12.| 15 0 = 12,12 - IO =
13.| 10 3 = 13|10+ 9 =
1. | 1] 0 = % |I0 = B =
6. 10 4 = 6|10 + 2 =
h.‘.n. 9 .H:I - .| 16 - 10 =
I7.| & 0D = 7|18 - 10 =
8. 16 0 = 8|7 <+ 10 =
19.| 10 b = .15 - 10 =
2. 12 ia = M| 3 + 0=

5




Solutions +1 -1




Solutions +2 -2

Y Tuesday

Y Wednesday |

j Time allewed Time allewed: E Time allowed: e Tirme allowead:
mins mins mins mins
.| 2 + 8 =10} |.|]|2 -+ 7 = %] 1.|2 + 6 = 7 .| 2 + 4 = &




Solutions +3 -3

s Tirmne allowed: H Tirmee allawed: - Timme ol Loswsad: 7 Time ollowed:
L] Ll 1 ]
i e ]
i ming .y mins | s T mins mins
[ [ &

|3+ 3 =6] L|3+3=06]L|3+10= 13| L.l3 + 8 =]
215 + 3 =8| 2|9+ 3 =12 2|9 -3 =6]2|6~-3=23
.03+ 7=10] &1l -3 =28]8I3+3=206]387-3=3%4
|10+ 3 = 13| &|4 - 3 = || 4|3 - 3 = 0| 4|9 + 3 = 12
5.3 + 2 = 5| 6|4 +3=7]| 6|9+ 3 =12] B.|]4 - 3 = |
6|10 - 3 =7 &2 +10=13] &|8 - 3 = 5| &|3 + 10 = 13
7./|5 - 3 =21 7|0-3 =7 7|3+ 5=28]7|8-3=25
8./13- 3 =10] 8|6 - 3 =3| 8|13-3=10]8|3+2=025
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Solutions +4 -4

Mondoy | Tuesday | Wednesday |  Thursday

7 Time allowed: Time allowed: Time allowed: Tirme= ablawed:
@ - @ ming @ ming @ mins

o




Solutions +5 -5

" Mondoy |  Tuesday | Wednesdoy |  Thursday
w, Time allowed: Tirme ollowed: AT Time allowed: Time allowed:
R mins mins ‘ELF ming mins
L5+ 4 =9 L|5+5=10] LL|5§ + 6 =1u| L5 +10=15
2/l +5=8l2lz+s5=7]2lnl-5=48]2l0-5-=35
3.5 +5=10] 8|8 -5=3]8&|4+5=29] 8|1l -5=68
|5 + 0 = 65| |5 - 5 = 0| 4|6 - 5 = || k|4 + 5 = 9
5.2 + 5 =7]| 8|5 + 8 =13] 8|5 +5=10]| 6|5 -5 =0
6|9 - 5 =4] &|5 + 4 =9 6|10 -5=5]| 6|5 + 6 =1l
7.5 -5 =0] 7|0-5=6] 7|5+ 8 =13] .|12-5=171
8./10 - 5 =5 8|7 -5=2]8|12-5=7]8&|5+ 2 =7
9.7 -5 =2] 9|5 + 9 =14]9l5+2=7]|9|l8 -5=3




Solutions +6 -6

Mondoy | Tuesday | Wednesday |  Thursday |

T Time allowed: Time allowed: Time ablowad: e, Tirme allowed:
mins mins mins o :‘:‘ mins
l.] & + = b l.| & = 0§ l.]6 + 10 = 16] L.|&% + &6 = 10
2.| 6 + = 7 2.1 6 = |l 2110 - &6 = 4 2112 - 6 = &
3.|5 + = 1] 3.|12 = 6] 3|6 + & = 10] B.|16 - &6 = 10
& & + = [3] & |10 = 4| |9 - 6 = 3 &6 + 5 = Il
5|6 + = 0] B,| 6 = 7 B.|6&6 + 0 = 6 B.|l& = 6 = [
6. |10 - = 5 6. 7 = 3] 6|15 - 6§ = § 6|6 + 10 = I&
7.8 - = 2 7. 14 = B .16 + 9 =15] 7|16 - &6 = 9
B. Il - = 5§ 8. 11 = 5] 8|8 - 6 = 2 86 + 3 = 9
9.| 6 - = 0 9. & = 0] 9.(/3 + 6 = 9 Qlll - 6 = 5
0. ¢ - = 3|10, 6 = 15]10.|16 - 6 = 00| &6 + & = |12




Solutions +7 -7




Solutions +8 -8

Monday | Tuesdoy | ‘Wednesday |  Thursday |
i Teme allowed: Time: allowead: T Tima ablowed: Tirme allowead:
m-lru. rm'm mln:. mins
.|8 + =1uj| I.|8 =91 I./8 + 4 =12] I.|8 10 = 18
2.| & + = 12] 2] 6 = 14] 2|16 - 8 = 8] 2|18 8 = 10
3.8 + = B 3|16 = 8] 3.|8 + 10 = 18] 8.13 B =25
4|8 + = 13| 4|13 = 5| &|9 - 8 = 1| &[5 8 = 13
5|8 + = |0] 6.8 = 8| 6|5 + 8 = 13| &|12 B = 4
6|8 - = 0| 6|8 = I5] &|18 - 8 = 10] &8 g = 17
7. 11 - =3 7.|17 =gl 7.8 + 9 =17] 7|17 B8 = 9
B. 13 - = 5| B.|14 = 6] 8.|/12 -8 = 4] 8|4 B = 12
9./10 - = 2| 9./ 8 = 13] 9./|3 + 8 =11] 9.8 B =10
0. 12 - = 5|10.| 9 = 7|10./10 - 8 = 2]10.| 8 2 = 10




Solutions +9 -9

" Monday | Tuesdoy | Wednesday |  Thursday

=, Tirne oflowed: v, Tirne allowed: . Time ollowed: . Time allowed:
. :":I* ming "r : .1’ mins '::r By mins rming
L9 +3=12] L|l9+5=14] |9 +0=9]| L|?2 + 1 =10
2l2 + ¢ =1l 29 +1 =10 2|19- 9 =10] 22|]18- 9 =9
8./9 + 4 =13] 3|0 -9 =2]38|9+7 =16] 8|]13-9 =4
6|9 + 0 = 9| &|17 -9 =8| &|14 - 9 = 5| 4|9 + 10 = 19
B.|9 + s =14] &|9 + 6 =15 6|9 + 3 =12]| &|12- 9 = 3
b|l& - 9 = 5] &|I0+ 9 =19] &|1B8 - 9 = 9| &|6 + 9 =I5
Tl9 -~ 9 =g 2|2 -9 =8| |8+ 9 =ir] 7.|17-9 =3
8|13 -9 =4]8|16-9=7|8[|12-9=23]|8&|4+ 9 =13
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Solutions +10 -10

Monday | Tuesday | Wednesdoy |  Thursday |
T Tim& allowed: Time allowed: Tima allowead: Tirmee alblowead:
mins Frifs Fring mins
|10+ & =14] |0+ 2 =121 L|7 +10=17] L|(IO+ 5 =I5
2.2 +10=12| 2.|8 + 10 =18] 2|13 - 0= 3] 2(20 - 10 = 10
3./(10+ 3 =13| 8|I5-10=5] 8|10+ 8 = 18] 3|10 - 10= 0D
|5 + 10 = 15| &|13 - 10 = 3| &|17 - 10= 7] &|10 + 0 = ID
B.|IO+ I =] B|I0+ 7 =17] &|I0+ 2 = 12] &|19 - 1D = 9
§./15 - 10= 5] &|10+ 3 = 13] 6|20 - 10 = 10] &.| &% + 10 = 14
7./13 - 10= 3| 7./20 - 10 = 0] Z.|10+ 9 = 1g] 7.|14 - 10 = &
B.[20 - 10 = 10| B.|14 - 0= 4| B.|IB - I0=8] &[0+ & =16
I -10= 6] |10+ 1| =1] 9|0+ 10=10] %17 -10=7
10.[18 = 10= 8[10.|6 + 10 =1600./1&4 - 10 = & ]I0./10+ | = II
i.j10o+ 7 =17|1L.|19 - 10 = G ]IL|1I0O+ 10 =20]|)|I3 - 10= 3
12.|9 + 10 =191 12|17 - 0= 7]I2[(15§ - 0= 5]I|I12 - 10= 2
13./10+ 10 =20]18.|5 + 10 =15]18.|10+ 3 = I3]18.|10 + & = |9
(10 + 6 = 16| 14|10+ 0 = 10| M|l - 0= 1 |I1&(I0D+ 8 = I8
16./10 + 8 = 1B|I6.|12 - 10= 2]I15|10+ & = 14]15.|10 + 2 = |2
&1l —10=1|§6|10-10=0)16]|19 - 10= 91616 - 10= 6
1I7./19 = 10 = 9 |17.|]10 + 10 = 20)17.|5 + 10 = I5]I7.|18 - 10 = §
B.({12 -~ 10=2]118,|4 + 10 = [4]18.[16 - 10= &]18.|7 + 10 = |7
19.(14 = 10 = 4 |19.]18 - 0= 8|9|10+ 6 =16]I%|I5-10= 65




